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[Use separate Answer Books for each group]

Group – A 

1. Answer any four questions : [5×4]  

 a) Are knowledge and belief, according to Plato, identical? Discuss. 

 b) Explain, according to Descartes, causal argument for the existence of God. 

 c) ‘God exists as the First Cause’— Explain this statement following Aquinas. Briefly examine the 

acceptability of this view. 

 d) What are the different types of causes admitted by Aristotle. Give a brief explanation of each of 

them with suitable examples. 

 e) If the monads are windowless, then how are they co-ordinated? Explain after Leibnitz. 

 f) Are all ideas innate? Answer, after Leibnitz. 

 g) How and why did Descartes establish the method of doubt as the philosophical method? Discuss. 

 h) Explain in brief, after Spinoza, the relationship between God and the world. 
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Answer any two questions : [15×2] 

2. a) What according to Plato, is the characteristic of knowledge proper? How does Plato establish the 

theory that sense-experience is not knowledge proper? Discuss. [5+10] 

 b) Explain, after Descartes, the criterion of truth. Examine how far this criterion is acceptable. [10+5]  

 c) Explain Spinoza’s doctrine of substance. In this connection discuss the relation between substance 

and its attributes. [10+5] 

 d) Distinguish after Leibnitz, between truths of reason and truths of facts. [15]  
 

Group – B 

3. Answer any four questions : [5×4]  

 a) What is meant by ‘class’ and ‘complementary class’? Explain and illustrate. 

 b) What is the relation between truth and validity? 

 c) What is meant by first-order dilemma? Give an example. 

 d) What is existential fallacy? Give an example. 

 e) If “All S in P” is false, determine after the traditional logicians, the truth-values of the following 

two : 

  i) All non-P is non-S. 

  ii) Some P is S. 

 f) What is the difference between argument by analogy and induction by simple enumeration? 

 g) Mention the steps followed in scientific investigation. Explain, in brief, the first two steps. 

 h) Write a short note on ad-hoc hypothesis. 
 

4. Answer any two questions : [15×2] 

 a) i) Discuss in brief the rules of validity of both hypothetical and disjunctive syllogisms and the 

fallacies committed if the rules are violated. [7] 

  ii) Give the obverse of the converse of the following propositions : [2+2] 

   1. Bats are not birds. 

   2. Only seas are dwelling place of whale. 

  iii) Transfer the following into standard form categorical propositions : [4] 

   1. Good counsellors are not universally appreciated. 

   2. Children are not applicants. 

   3. Neighbours are usually sympathetic. 

   4. Nothing is both safe and exciting. 
 

 b) i) Express in Boolean notation and represent by means of Venn diagram— 

   Gold in not the only precious metal. [3] 

  ii) Translate the following into standard form categorical syllogisms and test their validity by  

   Venn-diagram technique : (any two)  [4+4] 

   1. Some philosophers are mathematicians; hence some scientists are philosophers, since all 

scientists are mathematicians. 

   2. All underwater craft are submarines; therefore, no submarines are pleasure vessels, since 

no pleasure vessels are underwater craft. 

   3. Only theories are practices; all surgeries are practices, so all surgeries are theories.  

  iii) Determine the form of the argument and test its validity : [4] 

   If Carl embezzled the college funds, then Carl is guilty of a felony. Carl did not embezzle the 

college funds. Therefore, Carl is not guilty of a felony. 
 

 c) Explain three senses of the term ‘cause’ with appropriate examples. [15] 
 

 d) a) Calculate the probability :  

    i) What is the probability that the total number of points that appear on top is 7 by rolling 

two dices together? [4] 
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    ii) What is the probability of getting exactly one ace in two successive draws of cards from a 

standard deck of cards if the card drawn is replaced before the next drawing? [4] 

    iii) If the probability that a man of age 25 will survive his 50th birth day is 
750

1000
, and the 

probability that a woman of age 22 will survive her 47th birth day is 
810

1000
, and such a 

man and woman marry, what is the probability that at least one of them lives at least 

another 25 years? [4] 

  b) What is meant by the addition theorem for calculating probability? [3] 
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